AIEAE T2 3 GI=k ]
FE s 28RE akE ZBRE BikE
BREE BREE
E: % H L -9 H % 2 =
X4 0 0 0 0 0 0 - 0 0 0 -
X BAE 0 0 0 0 0 0 - 1 0 1 1.0
BAX 0 0 0 0 0 0 - 0 0 0 -
HREL 0 1 1 0 1 1 1.0 0 0 0 -
B BRERIDIR 0 0 0 0 0 0 - 0 0 0 -
RERU 0 0 0 0 0 0 - 0 0 0 -
WA FER
AIEAE 12 3 GI=E ]
FE s 28RE akE ZBRE akE
BREE EE
E: % H L % H z L) z
% 1 0 1 1 0 1 1.0 0 2 0 1.0
% BAE 0 0 0 0 0 0 - 0 0 0 -
BAX 0 0 0 0 0 0 - 0 0 0 -
BAX(E#) 0 0 0 0 0 0 - 0 0 0 -
=B 0 2 2 0 2 2 1.0 1 0 1 1.0
HaE
BRERIDEE 0 1 1 0 1 1 1.0 0 0 0 -
#H2 AWAZHR
AIEAE T2 #®EaE
FE FH 28BE aE ZBE BEE
BEE BEE
E: % H L % H % L} z
1h# 0 0 0 0 0 0 - 0 1 0 1.0
% =P:N-d 0 0 0 0 0 0 - 0 1 0 1.0
BAX 0 0 0 0 0 0 - 0 0 0 -
BAX (FiE) 0 0 0 0 0 0 - 0 0 0 -
HaEt 0 0 0 0 0 0 - 0 0 0 -
HaEL
BB 1 3 4 1 3 4 1.0 0 0 0 -
BFEAFHR
AIEAE 12 #®EaE
i FH 2BE aE ZBE BEE
BEE BEE
5 X B £ x B = E] %
L% 0 0 0 0 0 0 - 0 0 -
X =N 1 0 1 0 0 0 - 0 0 0 -
BAX 0 0 0 0 0 0 - 0 1 0 1.0
HREL 2 0 2 1 0 1 20 1 2 1 1.0
@ BRER DR 0 1 1 0 1 1 1.0 0 2 0 1.0
REEAL 0 0 0 0 0 0 - 0 0 0 -
KZBEAZHAR
MEEE EEEE
HERH =80 ZBRE aEE ZBE BEE
BEE BEE
5 % B 5 % B % E:] %
ILHBFER 3 0 3 3 0 3 1.0 0 1 0 -
TIPER | mxmreu | 2 0 2 i 0 i 20 0 i 0 20
EXFER 0 0 0 0 0 0 - 0 0 0 -
HEBEUFER
HRBULTRA | g | O 2 2 0 ) 0 - ) ) ) -
. =] Y= =h
PR %ETS%@;@ 1 0 1 1 0 1 1.0 0 0 0 -
XERTR
(Bt | WEFER 1 0 1 10




